Phép trir 3 chir s6

624
-499

676
—-504

637
—-618

270
—235

647
—-547
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Ngay thang:

421
—-406

763
-183

998
—-989

544
-409

543
-469

Piém:___
691
-619

600
—252

901
—-295

965
—255

721
613
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% % Phép trir 3 chir s6
Tén: Ngay thang: Piém:____
986 316 624 421 691
-917 -199 -499 -406 -619
69 117 125 15 /2
987 831 676 763 600
-317 =501 -504 -183 —-252
670 330 172 580 348
620 729 637/ 998 901
-359 -431 -618 -989 -295
261 298 19 9 606
957 886 270 544 965
-109 -818 —-235 -409 —-255
348 68 35 135 710
717 910 647 543 721
—-705 -708 -547 -469 -613
12 202 100 74 108
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